
Installation Instructions
Trek Top 4-Door

Vehicle Application:
Jeep® Wrangler Unlimited JL 2018-Current 

Part Number 56863

P1 - 56863  Rev. N  0124 Installation Instructions - Trek Top 4-Door © 2021 Bestop, Inc.

 

 
 

Before you begin installing your new Trek Top,  
please read all the instructions thoroughly.

			   Do not rely in any way on the components of this  
product to protect against injury or death in the event of an accident.  
Never operate the vehicle in excess of manufacturer’s specifications.
Read and follow, precisely, all installation instructions provided when  
installing this product. Failure to do so may result in a poor fit and could  
place occupants of the vehicle in a potentially dangerous situation.

WEAR SEAT BELTS AT ALL TIMES

Installation TimeTools

Skill Level

Safety glasses should be worn at all 
times when installing this product.

WARNING

Installation Tips

3 - Moderately Difficult

4 hours
T40 - T50

Torx Drivers
Safety

Glasses

Support
We’re here to help! Go to: 
https://www.bestop.com 
and click on Need Help?

https://www.bestop.com/video-library

3mm - 4mm - 
5mm

Hex Keys

8mm - 13mm
Wrenches

8mm - 13mm
Sockets

Socket 
Wrench- OR -Torque Wrench

 
For easier installation, the top should be installed at a temprature above 72° F.
Below this temprature, the fabric may contract making it difficult to fit the 
vehicle.

Slotted Screw Driver 



Installation Instructions
Trek Top 4-Door

Vehicle Application:
Jeep® Wrangler Unlimited JL 2018-Current 

Part Number 56863

P2 - 56863  Rev. N  0124 Installation Instructions - Trek Top 4-Door © 2021 Bestop, Inc.P1B - 54823   Rev. G  0416 Installation Instructions - Supertop NX Twill © 2016 Bestop, Inc.

Installation Instructions
Supertop NX Twill

Vehicle Application:
Jeep Wrangler Unlimited
2007-current
Part Number 54823



Installation Instructions - Trek Top 4-Door © 2021 Bestop, Inc.P3 - 56863  Rev. N  0124

Upper Rear Door Rail
Part #574.43 - Left
Qty. 1

Upper Rear Door Rail
Part #574.42 - Right
Qty. 1

Lower Rear Door Rail
Part #574.46 - Right
Qty. 1

Lower Rear Door Rail
Part #574.47 - Left
Qty. 1

Parts Kit #574.62P     

M6x20mm
Flanged Button Head 
Cap Screw
#517.48
Qty. 4

M8x1.25x20mm
Flanged Button Head 
Cap Screw
#573.09
Qty. 2

M8 x1.25x80
Screw
#532.23
Qty. 8

M6 U-Clip
#537.49
Qty. 4

M8 Flat Washer
#515.84
Qty. 2

Parts List     

#4 Bow Bracket
Part #576.30 - Right
Qty. 1

#4 Bow Bracket
Part #576.31 - Left
Qty. 1

Side Bow Pivot Bracket
Part #579.96
Qty. 2

#2 Bow Pivot Bracket
Part #579.95
Qty. 2

2.35

.67

2.28

.86

M8x1.25x20
Button Head 
Socket Cap Screw
#431.59
Qty. 4

M5x0.8x25
Button Head 
Socket Cap Screw
#579.60
Qty. 8

M6x1x14
Button Head 
Socket Cap Screw
#517.63
Qty. 18

M8x1.25
Nylon Lock Nut
#434.12
Qty. 4

M5 Nylon Lock Nut
#526.76
Qty. 8

Plastic Bushing
#473.40
Qty. 16

M6 Flat Washer
#515.81
Qty. 12

M5 Flat Washer
#565.90
Qty. 16

M8x1.25x38
Button Head 
Socket Cap Screw
#532.17
Qty. 2

M8 Flat Washer
#515.84
Qty. 4

2.5”x2” Hook-&-Loop Strip
#592.35
Qty. 6

Sunrider Tie-Down Straps 
Part #410.42
Qty. 2

Strap Clip
#338.24
Qty. 2

Parts Kit #576.59     

Screw, Binding Barrel 
Part #599.01
Qty. 2

Loctite Capsule 
Part #309.83
Qty. 1



Installation Instructions - Trek Top 4-Door © 2021 Bestop, Inc.P4 - 56863  Rev. N  0124

Tailgate Bar Retainer
Part #575.38 - Right
Qty. 1

#2 Bow Assembly
Part #576.44
Qty. 1

#4 Bow Assembly
Part #576.55
Qty. 1

Tailgate Bar Retainer
Part #575.39 - Left
Qty. 1

Front Door Rail
Part #574.32 - Right
Qty. 1

Front Door Rail
Part #574.33 - Left
Qty. 1

#5 Bow Assembly
Part #576.57
Qty. 1

Parts List     #2 Bow Link Assembly
Part #576.15 - Left
Qty. 1

#2 Bow Link Assembly
Part #576.16 - Right
Qty. 1

30 inch Nylon Strap
Part #629.63
Qty. 1

Tailgate Bar
Part #575.33
Qty. 1

Deck, Header Assembly & Fabric Top

Right Quarter Window

Left Quarter Window

Rear Window



Installation Instructions - Trek Top 4-Door © 2021 Bestop, Inc.

Page 5

P5 - 56863  Rev. N  0124

Assemble Rear Door RailsSection 1
Left Side Shown

Attach the two (2) U-Clips to the Upper Rear Door Rails in 
the positions indicated. Make sure to have the threaded 
barrel of each U-Clip facing up.

Attach the Upper Rear Door Rails to the Lower Rear 
Door Rails using two (2) Button Head Cap Screws.  

thread up from the bottom into the U-Clips.

Upper Rear Door Rail

Lower Rear Door Rail

M6 U-Clip

Upper Rear Door Rail

4mm
Hex Key

M6x20mm Flanged 
Button Head Cap Screw



Installation Instructions - Trek Top 4-Door © 2021 Bestop, Inc.

Page 6

P6 - 56863  Rev. N  0124

Attach #4 Bow Brackets to Rear Door Rail AssembliesSection 2

Attach the #4 Bow Brackets to the back side of each Rear 
Door Rail Assembly.

Attach the Brackets using three (3) M6 x14 Button Head 
Socket Cap Screws for each Door Rail Assembly.

#4 Bow Bracket

Rear Door Rail

4mm
Hex Key

M6 x14 Button Head 
Socket Cap Screws



Installation Instructions - Trek Top 4-Door © 2021 Bestop, Inc.

Page 7

P7 - 56863  Rev. N  0124

Attach Pivot Brackets to Side Bow and #2 BowSection 3

Attach the Side Bow Pivot Brackets to the Side Bows on the 
Header/Deck Assembly.

The Brackets attach to the end of each Side Bow using one (1) 
M5x25 Button Head Socket Cap Screw, two (2) Bushings, two 
(2) M5 Flat Washers and one (1) M5 Nylon Lock Nut on each Side 
Bow Leg.

The Plastic Bushings go directly on either side of the Side Bow 
legs, with the larger hole.

Attach the #2 Bow Pivot Brackets to the #2 Bow.

The Brackets attach to the end of each #2 Bow leg using one (1) 
M5x25 Button Head Socket Cap Screw, two (2) Bushings, two 
(2) M5 Flat Washers and one (1) M5 Nylon Lock Nut on each Side 
Bow Leg.

The Plastic Bushings go directly on either side of the Side Bow 
legs, with the larger hole.

#2 Bow

3mm Hex 
Key

8mm Wrench

Header/Deck Assembly

Side Bow Pivot Bracket

M5x25
Button Head 
Socket Cap Screw

M5 Nylon Lock Nut
Plastic Bushing

M5 Flat Washer

M5 Flat Washer

3mm Hex 
Key

8mm Wrench

#2 Bow Pivot Bracket

M5x25
Button Head 
Socket Cap Screw

M5 Nylon Lock Nut
Plastic Bushing

M5 Flat Washer

M5 Flat Washer



Installation Instructions - Trek Top 4-Door © 2021 Bestop, Inc.

Page 8

P8 - 56863  Rev. N  0124

Install Door Rail AssembliesSection 4

  1.  Place each Front Door Rail on the 
Jeep, aligning the rail brackets with the 
through-holes in the Jeep sport bar.

  2.  Secure each Front Door Rail to the 
sport bar using two (2) M8 x 80 Socket 
Cap Screws.

T40 Torx Driver

M8 x80 Screws

M8 x20 Screw

Rear Door Rail

1

2

M8 x80 Screws

T40 Torx Driver Front Door Rail

Align the pin on the bottom of the Door Rail 
Assembly with the hole in the top of the belt rail.

Align the rail brackets with the through-holes in the 
Jeep sport bar then Insert two (2) M8 x 80 Screws 
up from the bottom and one (1) M8 x 20 through 
the Lower Door Rail into the threaded hole in the 
belt rail.

             Tighten fasteners to 55 in/lb (4.5 ft/lb).

If a torque wrench is not available, use a Screwdriver 
type Torx driver to prevent over torquing.

NOTE:

Bottom of Door Rail



Installation Instructions - Trek Top 4-Door © 2021 Bestop, Inc.

Page 9

P9 - 56863  Rev. N  0124

Install Tailgate Bar RetainersSection 5

T50 Torx Driver

Tailgate Bar Retainer

M8x38 Button Head 
Socket Cap Screw

Left Side Shown

Attach the Tailgate Bar Retainers to the Jeep Belt 
Rail, using one (1) M8x38 Button Head Socket Cap 
Screw per retainer.

Insert the screws through the retainers, and into 
threaded holes in the top of the Jeep belt rail, and 
tighten.



Installation Instructions - Trek Top 4-Door © 2021 Bestop, Inc.

Page 10

P10 - 56863  Rev. N  0124

Install #5 BowSection 6

Attach the #5 Bow to the brackets on the rear 
of each Rear Door Rail.

Secure the #5 Bow to the Rear Door Rail 
Brackets using two (2) M8 x 20 Button Head 
Cap Screws, two (2) M8 Flat Washers and two 
(2) M8 Nylon Lock Nuts on each side.

#5 Bow Assembly

M8x20 Button Head 
Socket Cap Screw

M8 Lock Nut

M8 Flat Washer

5mm Hex 
Key

13mm Wrench

Install #5 BowSection 6



Installation Instructions - Trek Top 4-Door © 2021 Bestop, Inc.

Page 11

P11 - 56863  Rev. N  0124

Install #4 BowSection 7

Attach the #4 Bow to the top of the Rear Door 
Rail rear brackets.

Secure the #4 Bow to the top of the brackets 
using two (2) M6x1x14 Button Head Cap 
Screws and two (2) M6 Flat Washers on each 
side of the Jeep.

M6x14
Button Head Socket 
Cap Screw

M6 Flat Washer
#4 Bow Assembly

4mm Hex 
Key



Installation Instructions - Trek Top 4-Door © 2021 Bestop, Inc.

Page 12

P12 - 56863  Rev. N  0124

Install #2 Bow

Attach the #2 Bow Assembly to the top of the 
Rear Door Rail front brackets.

Secure the #2 Bow to the top of the brackets 
using two (2) M6 x14 Button Head Cap Screws 
and two (2) M6 Flat Washers on each side of 
the Jeep.

M6 Flat Washer

Front of Jeep

4mm
Hex Key

Section 8

#2 Bow Assembly

M6x14 Button Head Socket 
Cap Screw

Rear Door Rail

Front Door Rail



Installation Instructions - Trek Top 4-Door © 2021 Bestop, Inc.

Page 13

P13 - 56863  Rev. N  0124

Attach Bow Link to Side Bow

#2 Bow Link Assembly

M5x25 Button 
Head Cap Screw

M5 Nylon  
Lock Nut

Plastic 
Bushing

M5 Flat Washer

Section 9

3mm Hex 
Key

8mm Wrench

Side Bow 

Side Bow 

#2 Bow Link Assembly

Driver Side Shown

Attach the Bow Link Assemblies to the Side Bow.



Installation Instructions - Trek Top 4-Door © 2021 Bestop, Inc.

Page 14

P14 - 56863  Rev. N  0124

Attach Side Bow to Front Door Rail Brackets; Attach Bow Link to #2 Bow

Lift the Header/Deck-Side Bow Assembly onto 
the top of the Jeep, resting the Header on top 
of the Jeep windshield header.

Attach the #Header/Deck/Side Bow Assembly 
to the top of the Front Door Rail rear brackets 
using two (2) M6x14 Button Head Cap Screws 
and two (2) M6 Flat Washers on each side of 
the Jeep.

Attach the Bow Link Assemblies to the #2 Bow.

Section 10

M6x14 Button Head Socket 
Cap Screw

M6 Flat Washer

Front of Jeep

#2 Bow 

M5x25 Button 
Head Cap Screw

M5 Nylon  
Lock Nut

Plastic 
Bushing

M5 Flat Washer

#2 Bow Link Assembly

Front of Jeep

3mm Hex 
Key

8mm Wrench

#2 Bow Link Assembly

#2 Bow 

4mm Hex 
Key

Tip This will be much easier 
with two people.



Installation Instructions - Trek Top 4-Door © 2021 Bestop, Inc.

Page 15

P15 - 56863  Rev. N  0124

Drape Top Fabric Across the Top of the JeepSection 11

Open the Sunrider.
Drape the Top Fabric back across the top of 
the Jeep sport bars, and the #2, #3, and #4 
Bows.

Tip This will be much easier 
with two people.



Installation Instructions - Trek Top 4-Door © 2021 Bestop, Inc.

Page 16

P16 - 56863  Rev. N  0124

Attach Cable to Rear Door RailSection 12

Fold the edge of the top up.

Slotted Screw Driver 

Pull cable end from pocket located on the edge 
of the fabric assembly and locate the hole in the 
Rear Door Rail.

Barrel 
Nut

Screw

Put a drop of Loctite ® on the screw. Next  
place the Barrel from the inside of the Door Rail 
through the hole. Place the loop of the cable over 
the barrel then secure with the screw.



Installation Instructions - Trek Top 4-Door © 2021 Bestop, Inc.

Page 17

P17 - 56863  Rev. N  0124

Attach PSA Hook-&-Loop Strips to #5 Bow

Attach the six (6) Hook-&-Loop Strips to the #5 Bow as 
shown.

Wrap the Hook-&-Loop Strips around the cross-bars 
of the #5 Bow attaching one side of each strip to 
the opposite side. Make sure that  the “hook” side 
(“scratchy side”) of each wrapped strip is on the outside, 
so that it will adhere to the “loop” strip on the underside 
of the top fabric.

Hook-&-Loop Strips

Section 13

3.5”

Evenly Spaced

3.5”



Installation Instructions - Trek Top 4-Door © 2021 Bestop, Inc.

Page 18

P18 - 56863  Rev. N  0124

Fasten Top Fabric to #4 Bow and #5 BowSection 14

Locate the four flaps sewn to the inside of the fabric 
top just above the #5 Bow.

Wrap these flaps around the #5 Bow from back-to-
front, and snap to the snaps on the front side of the #5 
Bow.

Locate the two fabric flaps sewn to the inside of the 
fabric top just above the #4 Bow.

Wrap these flaps around the #4 Bow so that the Hook 
side of one flap attaches to the Loop side of the other 
flap.



Installation Instructions - Trek Top 4-Door © 2021 Bestop, Inc.

Page 19

P19 - 56863  Rev. N  0124

Loosely thread the 30 inch Nylon Strap through 
the two buckles on the center flap (Located on the 
inside of the main top)
Locate the two tabs that the rear latches of the 
Freedom Panels latch to.  Wrap the 30 inch Nylon 
Strap underneeth the tabs then pull the strap (at 
the buckles) until snug. 

Latch Tabs

Vehicles with Latch Tabs

Place the lower strap between the two tabs on the 
lower side of the clip.

Place the upper strap into the single tab on the 
top of the clip.

Repeat on the other side of the strap.

Attach Center Flap  Section 15

30 inch Nylon Strap

Strap Clip

Strap Clip



Installation Instructions - Trek Top 4-Door © 2021 Bestop, Inc.

Page 20

P20 - 56863  Rev. N  0124

1

2

Vehicles without Latch Tabs

1

2

3

Place the lower strap between the two 
tabs on the lower side of the clip.

Place the upper strap into the single tab on the 
top of the clip.

Repeat on the other side of the strap.

Attach Center Flap  Section 15

T25 Torx Driver

Remove screw from center of plastic trim 
piece. 

Thread the Strap into the buckles on the 
Center Flap.

Pull back on plastic enough to slide the 
strap down below the hole for the screw.

Replace the screw.

3

30 inch Nylon Strap
Strap Clip

Strap Clip



Installation Instructions - Trek Top 4-Door © 2021 Bestop, Inc.

Page 21

P21 - 56863  Rev. N  0124

Fasten Top Fabric to #2 Bow; Install Quarter WindowsSection 16

Locate the two fabric flaps sewn to the inside 
of the fabric top just above the #2 Bow.

Wrap these flaps around the #2 Bow so that 
the Hook side of one flap attaches to the Loop 
side of the other flap.

Flip Fabric Up

Locate the plastic channel along the left side edge of 
the top fabric, behind the left Rear Door Rail.

Lift up the fabric top for access to the plastic channel.

Insert the tip of the sewn-in plastic tube at the top 
edge of the left Quarter Window into the open end of 
the rear of the channel sewn onto the bottom edge of 
the top fabric.

Slide the Quarter Window forward until the front 
portion of the window is aligned with the rear edge of 
the Rear Door Rail.

Repeat on the right Side Quarter Window.



Installation Instructions - Trek Top 4-Door © 2021 Bestop, Inc.

Page 22

P22 - 56863  Rev. N  0124

Attach Quarter Panel StiffenersSection 17

Correct location for the left side Quarter 
Window and Stiffener shown.

Attach Quarter Window Stiffener to #5 
Bow cross bar on both sides of the Jeep.

Attach the Quarter Window Stiffeners (attached to 
the inside of each Quarter Window to the #5 Bow 
cross bar.

Clip the Stiffener J-Hooks over the #5 Bow cross 
bar, and make sure they are located all the way to 
the outside of the #5 Bow on each side.

It may be easier to attach each J-hook to the cross 
bar by rotating the Stiffener just a bit side-to-side 
to allow the J-Hook to slide over the cross bar. Locate the strap attached to the inside of each 

Stiffener. Snap the loose end of this strap to 
the snap located on the inside of each Tailgate 
Retainer.



Installation Instructions - Trek Top 4-Door © 2021 Bestop, Inc.

Page 23

P23 - 56863  Rev. N  0124

 Attach Rear WindowSection 17

Insert the tip of the sewn-in plastic tube at the top right 
corner of the Rear Window into the left-side open end of the 
channel sewn onto the bottom edge of the top fabric, and 
slide the Rear Window to the right until it meets the right 
side Quarter Panel Stiffener.

2Ó

Zip the first 2” of the Quarter Windows to the 
Rear Window on each side of the Jeep.

Attach the Tailgate Bar to the Rear Window.

Slide the Tailgate Bar channel over the sewn-
in receiver tube on the lower inside of the 
Rear Window.

Lift up the corners of the Top Fabric to expose 
the Rear Window attachment channel.



Installation Instructions - Trek Top 4-Door © 2021 Bestop, Inc.

Page 24

P24 - 56863  Rev. N  0124

Locate the the sewn-in plastic strip along the 
front edge of the left Quarter Window.

Tuck this plastic strip into the vertical channel 
along the outside face of the left Rear Door 
Rail.

Secure Quarter Window Front and Bottom RetainersSection 18

Location of channel 
for plastic strip

Tuck the plastic strip along the bottom
edge of the left Quarter Window under
the Jeep belt rail, by rolling it up
underneath the belt rail, beginning at the
rear, and working your way forward.

Repeat on the right Quarter Window.



Installation Instructions - Trek Top 4-Door © 2021 Bestop, Inc.

Page 25

P25 - 56863  Rev. N  0124

Secure Corners of Quarter Windows; Snug Top Corners with Hook-& Loop StripsSection 19

Loop on Rear Window

Attach the flap at the top corner of the left 
Quarter Window to the hook and loop strip 
on the top of the Rear Window. 

Repeat on the right side of the Jeep.

Pull the corner of the Top over the Side 
Panel attaching the Hook and Loop. 



Installation Instructions - Trek Top 4-Door © 2021 Bestop, Inc.

Page 26

P26 - 56863  Rev. N  0124

Secure Quarter Windows and Rear Window to Jeep Belt Rail; Zip Windows TogetherSection 20

Tuck the plastic tabs at the bottom corners 
 of the Rear Window into the Belt Rail Retainer.

Finish zipping the Quarter Windows and Rear 
Window together completely.

Tuck the plastic tab at the bottom rear corner of 
each Quarter Window under the Jeep belt rail.

Roll the tab up underneath the belt rail.



Installation Instructions - Trek Top 4-Door © 2021 Bestop, Inc.

Page 27

P27 - 56863  Rev. N  0124

Close and Latch SunriderSection 21

Fold the Sunrider closed and secure both 
latches to the vehicle’s windshield header.

Pivot the latch handle down.

 Engage the hook. Pivot the latch handle back up.



Installation Instructions - Trek Top 4-Door © 2021 Bestop, Inc.

Page 28

P28 - 56863  Rev. N  0124

Optional Sunrider Tie Down StrapsSection 22

Fold the Sunrider back.

Wrap one (1) strap around both arms once and around 
the upper arm once, and secure the hook-and-loop 
strap.

Repeat on the other side of the vehicle.



Zippers: Keeping zippers cleaned and lubricated with Bestop’s Zipper Cleaner 
(part no. 11206-00) will help prevent damage and keep the zippers in smooth work-
ing condition.  If a zipper opens behind the slider, the slider may have been spread 
apart. This problem can usually   
be repaired by using an ordinary pair of pliers to bring the sides back into parallel. 
Return slider to the end of the zipper in the normal Open position.  Squeeze lightly 
at first and test the zipper. If the zipper continues to remain open squeeze more 
firmly with the pliers and try the zipper again. Repeat this procedure until the zipper 
operates correctly.

Care and Maintenance of your Bestop Product
Your Bestop product is made of the finest materials available. To keep it looking new and for the maximum possible wear, it will need
periodic cleaning and maintenance.
Fabric: The fabric should be washed often using soap, warm water and a soft bristle brush Rinse with clear water to remove all traces
of soap. Bestop recommends using Bestop Cleaner (part no. 11201-00) and Bestop Protectant (part no.11202-00) for Vinyl fabric and
Bestop Twill Protectant (part no. 11207-00) for Twill fabric. Bestop Cleaner and Bestop protectant are specially formulated to provide a
total cleaning and protection system. Bestop Cleaner safely removes the toughest stains, will not harm vehicle finishes, is biodegradable
and environmentally friendly. Bestop Protectant protects against UV-fading, cracking and hardening, and repels dust, grease, dirt and
mildew.
Windows: Keep windows clean to avoid scratching. DO NOT use a brush on the windows! Wash with a water-soaked cloth or sponge
and a mild dishwashing detergent. Bestop recommends Bestop Vinyl Window Cleaner (part no. 11203-00), which safely cleans and
protects vinyl windows and helps prevent UV damage. NEVER WIPE THE WINDOWS WHEN THEY ARE DRY. Be careful when cleaning
snow or frost from the vinyl windows since they are easily scratched and may crack at low temperatures. DO NOT roll the sides or rear
window in cold weather. The windows become stiff and will crack. Cracks caused by misuse in cold temperatures are not covered under
warranty.
Water: Seeping through at the seams may be stopped by applying 3-M Scotchgard® on the inside of the seams. 

Snaps: Keep snaps cleaned and lubricated with silicone to help prevent snaps from sticking to the studs. If a snap does become stuck
to a stud, use a screwdriver and GENTLY pry apart to prevent permanent damage to the snap or the top fabric.

Normal Slider-
Jaws Parallel

Damageed Slider-
Jaws spread apart
(Sometimes broken)

For Bestop Warranty Information, Please go to; 
https://www.bestop.com/help/warranty-information/


